



Mr. Richard Stolleis, PE Fort Bend County Engineer Fort Bend County Engineering Department 301 Jackson St. Richmond, TX 77469 January 17, 2019

Project No:

006696

Invoice No:

1218096

Legacy Project No:

0262.016.000

2013 Fort Bend County Mobility Bond Project Purchase Order No.: 117762 Amount: \$1,607,875.00

Project Management Agreement Expires: September 30, 2018

For Professional Services rendered from October 27, 2018 to December 31, 2018:

Project Management

Professional Personnel

	Hours	Rate	Amount	
Department Manager				
Durgin, Donald	5.00	250.00	1,250.00	
Clerical				
Neumann, Karen	1.00	90.00	90.00	
Totals	6.00		1,340.00	
Total Labor				1,340.00
				\$1,340.00

13201 Beechnut Boulevard

Professional Personnel

	Hours	Rate	Amount	
Department Manager				
Durgin, Donald	1.00	250.00	250.00	
Totals	1.00		250.00	
Total Labor				250.00
				\$250.00

13203 Chimney Rock Boulevard

Professional Personnel

	Hours	Rate	Amount
Department Manager			
Durgin, Donald	18.00	250.00	4,500.00
Senior Project Engineer			
Castelblanco, Adhara	9.00	170.00	1,530.00
Project Engineer			
Agha, Majed	12.00	145.00	1,740.00
Associate Engineer			
Hernandez, Vanessa	2.00	125.00	250.00
Designer			
Bathe, Cody	20.00	100.00	2,000.00
Clerical			
Neumann, Karen	4.00	90.00	360.00
Totals	65.00		10,380.00
Total Labor			

10,380.00

Project	006696	Fort Bend County Project N	Managen	nent	Invoice 1	1218096
						\$10,380.00
13207 Lake	Olympia Parkway Segm	eent 1				
Profession	al Personnel					
			Hours	Rate	Amount	
	tment Manager					
	urgin, Donald		10.00	250.00	2,500.00	
	t Manager					
	riffin, Jonathan		31.00	200.00	6,200.00	
	ate Engineer arrillo, Francisco		4.00	125.00	500.00	
C	Totals		4.00 45.00		500.00 9,200.00	
	Total Labo	ır	45.00	•	9,200.00	9,200.00
	1000 1000	-				
						\$9,200.00
13208 Ludy	via Road					
	al Personnel					
Frotession	u rersonnej					
Domard	mont Managan		Hours	Rate	Amount	
	ment Manager urgin, Donald		1.00	250.00	350.00	
ע	Totals		1.00 1.00		250.00	
	Total Labo	r	1.00		250.00	250.00
	100011000	•				
						\$250.00
13211 Suga	r Land-Howell Road					
	d Personnel					
rroressiona	u Personnei					
Domont	mout Mon		Hours	Rate	Amount	
	ment Manager urgin, Donald		1.00	250.00	250.00	
Ъ	Totals		1.00 1.00		250.00 250.00	
	Total Labo	r	1.00		230.00	250.00
						\$250.00
13400 TTS 0	0A at SH 99					
Professiona						
I i ofessions	ii Fersonnei			_		
Senior	Project Manager		Hours	Rate	Amount	
	lje, Bassem		28.00	240.00	6 720 00	
1.	Totals		28.00		6,720.00 6,720.00	
	Total Labo	r	20.00		0,720.00	6,720.00
						\$6,720.00
Reimbursal	ble Expenses					
	xp-Mileage				47.42	
icotti i	Total Reim	bursables		1.0 times	47.42 47.42	47.42
	~ * * * * * * * * * * * * * * * * * * *			1.0 times	77.72	
						\$47.42
Recap:		Current		Drawia	T. D.4.	
Total E	illings			Previous	To-Date	
	nings Intract Amount	28,437.42		1,407,391.91	1,435,829.33	
	lance				1,607,875.00 1 72,045.67	:
20					1 / Z ₃ UTJ.U / 🦋	

Project 006696 1218096 Fort Bend County Project Management Invoice

Total Due This Invoice:

Remit Payment: 1160 N Dairy Ashford, Suite 500, Houston, Texas, 77079 T: (281) 589-7257 F: (281) 589-7309

\$28,437.42 Oh, 546 01/17/19

Project	006696 Fo	ort Bend County l	Project Management		Invoice 1	218096
Billin	g Backup				Wednesday, Ja	nuary 16, 2019
	tructure Inc. (Live)	It	1voice 1218096 Date	d 1/17/2019	,,	5:20:25 PM
Profession	al Personnel					
			Hours	Rate	Amount	
Departmen	t Manager					
000640	4 - Durgin, Donald	11/15/2018	3.00	250.00	750.00	
	project meeting for update on					
000640	4 - Durgin, Donald	11/27/2018	1.00	250.00	250.00	
000640	amendment 5 work 4 - Durgin, Donald	12/18/2018	1.00	250.00	250.00	
700040	BOE invoice review	12/10/2010	1.00	250.00	230,00	
Clerical	BOL MVOICE TEVIEW					
001040	23 - Neumann, Karen	11/27/2018	.50	90.00	45.00	
	Prepared routing form & 1295					
001040	23 - Neumann, Karen	11/28/2018	.50	90.00	45.00	
	Completed contract approvals					
	Totals		6.00		1,340.00	
	Total Labor					1,340.00
						\$1,340.00
rofession.	al Personnel					
			Hours	Rate	Amount	
Departmen	t Manager		Hours	Rate	Amount	
000640	4 - Durgin, Donald	11/12/2018	1.00	250.00	250.00	
	coordination of design plans w	ith adjacent proje				
	Totals		1.00		250.00	
	Total Labor					250.00
						\$250.00
rotession	al Personnel		Hours	Rate	Amount	
Department	t Manager		110410	*******	IMAVAIL	
000640	4 - Durgin, Donald	10/30/2018	2.00	250.00	500.00	
	coordination with design & sur	vey for ROW, Pa	rcel revisions			
00640	4 - Durgin, Donald	11/5/2018	1.00	250.00	250.00	
	answering questions regarding	comments and de	esign, ROW, review	proposal &		
000640	process with County 4 - Durgin, Donald	11/6/2018	2.00	250.00	500.00	
700 04 0	answering questions regarding				300.00	
	execution of the amendment	comments and de	esign, ROW, facilitat	ing the		
	execution of the amendment		2.00	250.00	500.00	
000640	4 - Durgin, Donald	11/9/2018	2.00			
000640	4 - Durgin, Donald sludge pit mitigation meeting v		2.00			
	4 - Durgin, Donald sludge pit mitigation meeting v 4 - Durgin, Donald	vith BOE 11/12/2018	1.00	250.00	250.00	
000640	4 - Durgin, Donaldsludge pit mitigation meeting v4 - Durgin, Donaldcoordination of design plans w	vith BOE 11/12/2018 ith adjacent proje	1.00			
00640	 4 - Durgin, Donald sludge pit mitigation meeting v 4 - Durgin, Donald coordination of design plans w 4 - Durgin, Donald 	vith BOE 11/12/2018	1.00	250.00 250.00	250.00 250.00	
000640 000640	 4 - Durgin, Donald sludge pit mitigation meeting v 4 - Durgin, Donald coordination of design plans w 4 - Durgin, Donald revised parcels review 	vith BOE 11/12/2018 ith adjacent proje 11/13/2018	1.00 eet 1.00	250.00	250.00	
000640 000640	 4 - Durgin, Donald sludge pit mitigation meeting v 4 - Durgin, Donald coordination of design plans w 4 - Durgin, Donald revised parcels review 4 - Durgin, Donald 	vith BOE 11/12/2018 ith adjacent proje 11/13/2018 11/14/2018	1.00 1.00 3.00			
000640 000640 000640	 4 - Durgin, Donald sludge pit mitigation meeting v 4 - Durgin, Donald coordination of design plans w 4 - Durgin, Donald revised parcels review 4 - Durgin, Donald Chevron pipeline coordination 	vith BOE 11/12/2018 ith adjacent proje 11/13/2018 11/14/2018 plan review com	1.00 etct 1.00 3.00 aments	250.00 250.00	250.00 750.00	
000640 000640 000640	 4 - Durgin, Donald sludge pit mitigation meeting v 4 - Durgin, Donald coordination of design plans w 4 - Durgin, Donald revised parcels review 4 - Durgin, Donald Chevron pipeline coordination 4 - Durgin, Donald 	vith BOE 11/12/2018 ith adjacent proje 11/13/2018 11/14/2018 plan review com 11/29/2018	1.00 1.00 1.00 3.00 aments 2.00	250.00	250.00	
000640 000640 000640 000640	 4 - Durgin, Donald sludge pit mitigation meeting v 4 - Durgin, Donald coordination of design plans w 4 - Durgin, Donald revised parcels review 4 - Durgin, Donald Chevron pipeline coordination 	vith BOE 11/12/2018 ith adjacent proje 11/13/2018 11/14/2018 plan review com 11/29/2018	1.00 1.00 1.00 3.00 aments 2.00	250.00 250.00	250.00 750.00	

Project	006696	Fort Bend County Pro	ject Management		Invoice	1218096
000640	4 - Durgin, Donald	12/14/2018	1.00	250.00	250.00	
	BOE invoice review					
000640	4 - Durgin, Donald	12/17/2018	2.00	250.00	500.00	
	Wetlands agreement coor	dination & review				
Senior Projec	U					
000643	7 - Castelblanco, Adhara	11/15/2018	9.00	170.00	1,530.00	
	QC STRIPING, ROADW	'AY AND DRAINAGE S	SHEETS			
Project Engir						
001090	8 - Agha, Majed	12/19/2018	8.00	145.00	1,160.00	
	Chimney rock rd utility re					
001090	8 - Agha, Majed	12/26/2018	4.00	145.00	580.00	
Associate En	•					
001042	9 - Hernandez, Vanessa	11/15/2018	2.00	125.00	250.00	
	Drove to Fort Bend Engee Dairy Ashford office.	ers to pick up a plan set a	nd bring it back to	the RPS		
Designer						
000620	15 - Bathe, Cody	10/29/2018	3.00	100.00	300.00	
	Met with some of the utili the review	ty people for the chimner	y rock project to t	ry to expedite		
000620	15 - Bathe, Cody	11/1/2018	2.00	100.00	200.00	
	Push on the pipeline comp forward with the pipeline		along so that we	can move		
000620	15 - Bathe, Cody	11/5/2018	4.00	100.00	400.00	
	Sent emails to every pipel update on the review statu called some contacts for e	is of the P&p sheets that	were sent for their	requesting an r review also		
000620	15 - Bathe, Cody	11/6/2018	4.00	100.00	400.00	
	Continue to reach out to e person from each compan chimney rock project in the	y to verify they had all th	e information the			
000620	15 - Bathe, Cody	11/7/2018	5.00	100.00	500.00	
	Followed up with pipeline the chimney rock plans	companies to try to get a	a status update on	the review of		
000620	15 - Bathe, Cody	11/12/2018	2.00	100.00	200.00	
	Followed up with pipeline move forward	e companies trying to pus	h to get comment	s back to		
Clerical						
001040	23 - Neumann, Karen	11/26/2018	4.00	90.00	360.00	
	Final submittal County co	mments - scanned, uploa	ded to file, rebou	nd plan set		
	Totals	, <u>r</u>	65.00	•	10,380.00	
	Total Labor				•	10,380.00
						\$10,380.00

Professional Personnel

			Hours	Rate	Amount
Department N	Manager				
000640	4 - Durgin, Donald	10/29/2018	2.00	250.00	500.00
	coordination with design	& survey for ROW, Parc	el revisions		
000640	4 - Durgin, Donald	10/30/2018	2.00	250.00	500.00
	coordination with design	& survey for ROW, Parc	el revisions		
000640	4 - Durgin, Donald	11/5/2018	1.00	250.00	250.00
	guardrail standards for L	OP 1 & Chimney Rock			
000640	4 - Durgin, Donald	11/14/2018	1.00	250.00	250.00
	development of mucking	callout & plan review			
000640	4 - Durgin, Donald	11/26/2018	1.00	250.00	250.00
	Teletower ROW staking	coordination with Bryan l	Norton		
000640	4 - Durgin, Donald	11/30/2018	1.00	250.00	250.00
	plan review				

Project	006696	Fort Bend County Projec	t Managemen	t	Invoice	1218096
000640	4 - Durgin, Donald	12/3/2018	1.00	250.00	250.00	
	amendment review and p	rocessing				
000640	4 - Durgin, Donald	12/7/2018	1.00	250.00	250.00	
	roundabout follow up					
Project Mar	•					
000555	6 - Griffin, Jonathan	10/29/2018	1.00	200.00	200.00	
	ROW staking coordination	n with Terra and TSC				
000555	6 - Griffin, Jonathan	10/30/2018	3.00	200.00	600.00	
	ROW staking coordination	n with Terra and TSC				
000555	6 - Griffin, Jonathan	10/31/2018	2.00	200.00	400.00	
	Coordinate with Terra to	resolve FBC comments for 1	00% plans su	bmission		
000555	6 - Griffin, Jonathan	11/6/2018	3.00	200.00	600.00	
	ROW map coordination b	etween Lake Olympia and C	Chimney Rock	Intersection		
000555	6 - Griffin, Jonathan	11/7/2018	3.00	200.00	600.00	
	Coordination with LJA to Properties	locate driveways into Devla	in Group and	Woodmere		
000555	6 - Griffin, Jonathan	11/8/2018	3.00	200.00	600.00	
	Coordination efforts with	LJA, Terra, and Zarinkelk				
000555	6 - Griffin, Jonathan	11/9/2018	2.00	200.00	400.00	
	Coordinate with Terra wi submittal for segment 1	th median openings and rece	ive a status fo	т 100%		
000555	6 - Griffin, Jonathan	11/13/2018	2.00	200.00	400.00	
	Project Coordination with	Design Consultant to comp	lete 100% sub	mittal		
000555	6 - Griffin, Jonathan	11/16/2018	2.00	200.00	400.00	
	Review 100% Submittal t	rom Terra				
000555	6 - Griffin, Jonathan	11/26/2018	3.00	200.00	600.00	
	Review 100% plans from	Тегта				
000555	6 - Griffin, Jonathan Review of 100% Plans	11/29/2018	2.00	200.00	400.00	
000555	6 - Griffin, Jonathan	12/3/2018	2.00	200.00	400.00	
	Contract Amendment for Control	Teletower ROW Staking, Co	enterpoint, Re	-Establish		
000555	6 - Griffin, Jonathan ROW Coordination	12/6/2018	1.00	200.00	200.00	
000555	6 - Griffin, Jonathan	12/20/2018	1.00	200.00	200.00	
000555	6 - Griffin, Jonathan	12/21/2018	1.00	200.00	200.00	
Associate E	ngineer					
000624	20 - Carrillo, Francisco	11/29/2018	3.00	125.00	375.00	
	Check if previous submitt	al comments were addressed	1			
000624	20 - Carrillo, Francisco	11/30/2018	1.00	125.00	125.00	
		al comments were addressed	l. Discuss witl			
	Totals		45.00		9,200.00	
	Total Labor				- ,	9,200.00
						•
						\$9,200.00
Professiona	d Personnel					
			Hours	Rate	Amount	
Department	•					
000640	4 - Durgin, Donald extra invoice review - reje	11/27/2018 acted requiring modification	1.00	250.00	250.00	
	Totals Total Labor		1.00		250.00	250.00

\$250.00

Project	00669	6	Fort Bend County Pr	oject Management		Invoice	1218096
Profession	al Personne	l				-	
				Hours	Rate	Amount	
Departmen	t Manager						
000640	4 - Durg	in, Donald	11/8/2018	1.00	250.00	250.00	
	WKBID	Trail site visit for es	timating				
		Totals	_	1.00		250.00	
		Total Labor					250.00
							\$250.00
Duofassian	al Personne	<u>.</u>				i	
Frotession	ai rersonne	ı			_		
a				Hours	Rate	Amount	
	ect Manager						
000653	6 - Talje	•	11/8/2018	2.00	240.00	480.00	
		p with TxDOT on fe	w pending items - R	R ecordination and	l other		
000653	pending 6 - Talje		11/12/2018	2.00	240.00	400.00	
000055	-	, bassem equested addtional su			240.00	480.00	
000653	6 - Talje		11/13/2018	3,00	1 sign 240.00	770 00	
000055		ewed PGAL survey			240.00	720.00	
000653	6 - Talje		11/19/2018	3.00	240.00	720.00	
000055	_	plans 90% submittal				720.00	
000653	6 - Talje		11/28/2018	4.00	240.00	960.00	
000055		dditional survey need			240.00	900.00	
000653	6 - Talje	-	11/30/2018	2.00	240.00	480.00	
000023	Design (11/30/2016	2.00	240.00	400.00	
000653	6 - Talje.	=	12/3/2018	3.00	240.00	720.00	
000055		Request Review and o				720.00	
000653	6 - Talje,	_	12/5/2018	3.00	240.00	720.00	
000055		dination and other p			240.00	720.00	
000653	6 - Talje,		12/7/2018	2.00	240.00	480.00	
	_	dination and other p			240.00	480.00	
000653	6 - Talje		12/10/2018	2.00	240.00	480.00	
00000	•	updates and Drainag			240.00	+50.00	
000653	6 - Talje,		12/11/2018	2.00	240.00	480.00	
		w up and Drainage s			270.00	700.00	
		Totals	ady follow up coon	28.00		6,720.00	
		Total Labor		20.00		0,720.00	6,720.00
		X 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4					0,720.00
							\$6,720.00
Reimbursa	ble Expense	• 6					
	_						
Reim Exp-N	000022253	10/12/2018	Dungin Desett /	12011 CLAY D.	mtt ou	** 00	
EA 0000	100022233	10/12/2016		13211 SLH - Bike eting / 22.00 miles		11.99	
EX 0000	000022308	11/28/2018		rip to FBC Prec 2	_	35.43	
L21 0000	300022300	11/26/2016		Prec 2 Managers		33.43	
		Total Reimbursa	bles		1.0 times	47.42	47.42
							\$47.42
							\$28,437.42
					Total this	Report	\$28,437.42